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One-circuit operation (front-brake circuit failure)
Depressing the brake pedal causes primary piston “A’’ to move as above but, because the front-brake cir- ]
cuit cannot hold pressure, the oil immediately ahead of this piston does not get pressurized. As piston }
“A" keeps moving, compressing the spring, it begins to push piston “B” when the spring has been com-

pressed fully. From this point on, piston “B” moves to pressurize the oil ahead and thus actuate the rear |
brakes, .

Fig. 19-4

One-circuit operation (rear-brake circuit failure) 3
In this case, the leftward movement of piston “A" has but little effect in pressurizing its oil (for front

brakes) at first, because the initial rise in oil pressure causes piston “B” to promptly yield and move |
toward the left. Very soon the forward end of piston “B” comes to and hears against the head of the 3
cylinder. From this point on, the leftward movement of piston ‘A" becomes effective to pressurize the
oil ahead of itrfor the front brakes. Fig. 19-6 shows secondary piston ‘“B” at halt. ]

Fig. 19-5
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